
                                                                                   

 

 

 

     Aşağıdaki  işlemleri yapınız. 
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Adı Soyadı : ………………………………. 

Numarası  : ………………………………. 
Çalışma Kağıdı1 

Konu : İki Adımlı İşlemleri Yapalım 

Kazanım 1: İki adımlı işlemleri yapar. 

( 54 x 7 ) – 205 = ( 68 ÷ 8 ) + 347 =  8 ÷  ( 60 + 132 ) = 

7 x ( 882 ÷21 )  = 

( 9 x 12 ) ÷   6 = 

12  ÷  ( 10 x 24 )  = 

(150  + 65 ) ÷ 5 = 18 ÷ ( 63 x 12 )  = 

988  - ( 84 x 9 )  = 

( 240  ÷ 30)  x 10  = 

( 354 + 568 ) – 922 = 

17 x ( 75 - 25 )  = 


